Multiplying With Decimals

In your notebook, complete the following problems:
1. 0.56 x 100 = 56
2. 0.056 x 10 = .56
3. 2.367 x 1,000 = 2,367
4. 85.32 x 10 = 853.2
5. 0.0012 x 10 = .012
6. 2.34 x 1,000 = 2,340.0
7. 45.2 x 10 = 452
8. 4.13 x 1,000 = 4,130
9. 0.003 x 100 = .3
10. 2.389 x 100 = 238.9
11. 0.75 x 1,000 = 750
12. 0.26 x 10 = 2.6
What is the rule for finding the products above? When multiplying decimals by 10s, move the decimal to the right, determined by the number of zeros of the non-decimal number
